F'(x) A>9 f(x) = log1o(x2 + 3x) ilS ISI(YAgw

f(x) A>9V f(x) = x3e* ils 15] (Yagw

/(%) 391 f(x) = ¥ +5* lS I5] (Yo uw

F(x) a>9ld f(x) = x3e*” ils 13] (Y) gw

F(x) = €3 1ogyo(x% + 2x + 1) aWl Al Qiisiao A>gl (YT uw

/(%) a>9ld f(x) = 2F CulS I5] (VY uw
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f(x) = sin 5x Afiwuo Aol (YEuw

F(x) = cos x? Qésuino A>9l (YOw

F(x) = (sin)2x Qdswino A9l (Y1gw

f(x) = sinx X cosx Qiwun A>9l (YVyw

f(x) = tanx assiuivo A>9l (YAyw

f(x) = cotx asuuinn A>9l (YQyw




f(x) = secx Qaswian A>9l (& yw

f(x) = cscx asiminn A>9l (£) yw

f(x) = e’ secx Adimiano A>9l (EY w

y = (x? + 5)*e3* asiio A>9l(EY yw




